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EB303/EL303 R R

_ Spl. 2020
ADVANCE COMMUNICATION SYSTEM

Fryife amg &= 9 [3Afrhad 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70

A () T¥H T G E, 99 G @ e R F IR 7
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii)  FIF Fo & G 91T H1 FHER TF G1 5T Fd |
Solve all parts of a question consecutively together.
(iii) I Jo B 79 78 & IRE] Hord |
Start each question on fresh page.
(iv) g1 ST9I37 5 37 517 #1 R § 37 srgare & a1 8 |

Only English version is valid in case of difference in both the languages. .

. (1) RcaderFfusns=it?

(a) wIHTH (b) I fEsRHTESTH

(c) =i RshTESIYA @ 3Faf

What is necessary for digital communication ? _
(a) = Precision timing (b) Frame synchronization

(c) Character synchronization - (d) All of these
(2) PSK®iquam =g ?

(a) vou Rt eftaa (b) wed e Foflam

(c) Wt fomer Heftam (d) % P FHefra

What is the full form of PSK ?

(a) Pulse-signal keying (b) Pulse-shift keying

(c) Phase-signal keying (d) Phase-shift keying
(3) ITU wfqg=ama:

(a) FeAvES fowit gfe (b) Fertee e g
(c) FERM CHFRIARIA T (d)  FeeHe SelihegahyH Ife

ITU is an abbreviation for

(a) International telephony unit

(b) International telephony union

(c) International telecommunication union
(d) International telecommunication units

(10f8) P.T.O.
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4)

)

- (6)

(7

®)

QPSK foreen foraan wrereen fereema 1 3w &l 2 7

(@ = (b) n2

() m4 (d 2n

QPSK system uses a phase shift of

(@ = (b) =2

() m/4 (d) 2n

= 3 @ o Fidow SefieH i Ff R 7

(a) TRRAH STETSH (b) Hifta watst &=

(c) dWEEA (d) g

Which of the following is the drawback for cordless telephones ?
(a) Wireless technology (b) Limited coverage area
(c) Mobile (d) Security

frferfiaa § & S € Yeper SefieH somel i fawmar 7€ 2 7
(a) &S T H ITANTHAISAT B FHIANTA BT |

(b) w1 iiferes &

(c) ifta smgft Wagw

(@) Tawe smgfa wam

Which of the following is not a characteristic of cellular telephone system ?
(a) Accommodate large number of users

(b) Large geographic area

(¢) Limited frequency spectrum

(d) Large frequency spectrum

Ui &

(a) 3iea g wfa Aas (b) Eahd g AT
(c) Tehd FE™ (d) Foeft

Entropy is

(a) Average information per message
(b) Information in a signal

(¢) Amplitude of signal

(d) All of the above

7ol 1 T A WA A GO 39 R H TR H H wlowa 8

(a MSC (b) BUE-IATH

(¢) Roamer (d) BREE AT

The process of transferring a call from one base station to another is
(a) MSC (b) Hand off

(¢) Roamer (d) Forward channel
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)

At a1 st & foTe Hoger & i STefa Bt 2

(a) TEHER (b) FHR

(¢) 3JAEHR (d) WIS

The shape of the cellular region for maximum radio coverage is
(a) Circular (b) Square

(¢) Oval (d) Hexagon

(10) shYERE g: SU=AT 1 o1 B

(a) g &Ha

(b) i Sagm i SIS

(c) 3T 32T ! GHH WagH HT&ed AT
(d) I

The advantage of using frequency reuse is
(a) Increased capacity

(b) Limited spectrum is required

(c) Same spectrum may be allocated to other network
(d) All of the above

(11) Teitee gifsrrfe freen 3uam s @

(a) CDMA (b) TDMA
(c) SDMA (d) FDMA
Global positioning system uses

(a) CDMA (b) TDMA
(¢) SDMA (d) FDMA

(12) 3YUE VOIS T AN F1R 7

(13)

(a) HEw 6 Wiosgamft . (b)) A EER
(c) uiEe g ulge HryfAhyM (d) 78 3 &iE oft 7

What is the application of satellite systems ?
(a) Weather forecasting (b) Terrestrial communication
(c) Point to point communication (d) None of the above

ZHUTSt ¥ T HaeiE 8 7

(a) T HaR 39T H, I9HT S ITE % FERU IR AR @1 & i duh
foieh W a8 3@ ZiEUTSt HEd § |

(b) 39UE TER H, S ITehtv farsteft <t 3mgfd e e & 38 ZEds HEd # |

(©) (a)3(b)

(d) 79 aHIE off T

What is meant by transponder ?

(a) Inacommunication satellite, the equipment which provides the connecting
link between the satellite’s transmitting & receiving antennas is referred to
as the transponder.

(b) In a communication satellite, the equipment which provides the power
supply is referred to as the transponder.

(¢) (a)and(b)

(d) None of above

P.T.O.
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(14) 39UE % 37ufeier @ 1 Wi g2 & 7

(a) TEHIR b e

(c) Y WA grEHteX (d) YT RYH TEHIT
Primary component of uplink section of satellite is

(a) transformer (b) transistor

(c) earth station transmitter (d) power station transmitter

(15) 3I9UE G # % & 7ige™ (modulation) T Bt B 7

(16)

(a) AM (b)y FM

(c) PWM (d) PAM

In satellite communication, which modulation is used ?

(a) AM (b) FM

(c) PWM (d) PAM

YRR 3 I | T T TTeH AT 8 7

(3) TR (b) e geTRR T
(c) TS 9Y (d) dEFAITEA 9y
Geostationary satellite follow which path ?

(a) Circular path (b) Elliptical path

(¢) Inclined path (d) Cycloidal path

(17) 997 &1 foram geaes goian 2

(a) VR A g

(b) IR & uefaey

(c) go v | Svesfagy 3 Heha/am 9™
(d) H=or BT | WK

Shannon’s law relates

(a) antenna gain to frequency

(b) Noise power to bandwidth

(¢) Information carrying to bandwidth and S/N ratio
(d) Transmission losses to noise

(18) =eT &HaT 2

(a) =t 9 U Yefleh g AfNa JAfereheas Aehit

(b) T Teha A fafga St

(c) wiglera Heha w1 3T

(d) Fueft

The channel capacity is -

(a) The maximum information transmitted by one symbol over the channel
(b) Information contained in a signal

(¢) The amplitude of the modulated signal
(d) All of the above
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(19) fefree van & THaH FE 7
(a) feres Fefagy $t smavawar 2 |
(b) AR
(c) ifers defagy i seta 2 ot et sifew 2 |
(&) & B

What are the disadvantages of digital communication ?
(a) need more bandwidth

(b) is more complex

(¢) needs more bandwidth & is more complex

(d) None of the mentioned

(20) mﬁﬁﬁmww‘@@ﬁw&mwﬁ%?
(a) UoH TS HigevH (b) 9oH frgy Afgesm
(c) Uod TISfiyH AfgersH (d) Yo It ATgeryA

Which of the following is not a form of pulse modulation ?
(a) pulse amplitude modulation (b) pulse width modulation
(c) pulse position modulation  (d)  pulse frequency modulation

1) fFn-fismmg deemse 2 :
(a) JEASEEAE FERR | (b) UH SR B A gHA R |
(c) TG gag A gEae ((d) I @

A geosynchronous satellite

(a) has the same rotation period that of the earth
(b) has a circular orbit

(c) rotates in the equatorial plane

(d) has all of the above

(22) AfFae gan % foru forat Setse 6t smavasal 81di € 7

(a 1 (b) 3
(c) 10 @d 5
For global communication, the number of satellites needed is
(@ 1 (b) 3
(¢) 10 ' d 5
(23) T I Hehd S| SUIE ZHETTS § Jedt T W At gre 8
(a) Fufeieh (b) er3AfeT
() Awfae (d) 3rfETEE
A satellite signal transmitted from a satellite transponder to earth’s station is
(a) uplink (b) downlink
(c) terrestrial (d) earthbound

P.T.O’
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(24)

ASKHTQUAHFTR ?

(a) Angle Shift Keying (b) Analog Shift Keying
(c) Amplitude Shift Keying (d) Anti Shift Keying
What is the full form of ASK ?

(a) Angle Shift Keying (b) Analog Shift Keying

(¢) Amplitude Shift Keying (d) Anti Shift Keying

(25) A EHRWAARIR ?

(26)

(a) Direct to Head (b) Direct to Hill
(¢) Direct Transfer Home | (d) Direct to Home
What is the full form of DTH?

(a) Direct to Head (b) Direct to Hill
(¢) Direct Transfer Home (d) Directto Home

GEO #eege  GEO hI QU AH RN 7 *

(a) General Earth Orbit (b) General Equal Orbit

(¢) Geostationary Earth Orbit (d) Geographical Equal Orbit
What is the full name of GEO in GEO satellite ?

(a) General Earth Orbit (b) General Equal Orbit

(¢) Geostationary Earth Orbit (d) Geographical Equal Orbit

(27) ¥ A% H multiple access T T8 8 ?

(28)

(a) FDMA (b) CDMA

(c) - TDMA (d) ADMA
Which is not multiple access technique out of these ?
() FDMA (b) CDMA

(c) TDMA (d) ADMA
AETEA FRAHTA § MTSO T [ AH F1R 7

(a) Mobile Transfer Switching Office

(b) Mobile Time Switching Office

(¢) Mobile Telephone Shift Office

(d) Mobile Telephone Switching Office

What is the full name of MTSO in mobile communication ?
(a) Mobile Transfer Switching Office

(b) Mobile Time Switching Office

(c) Mobile Telephone Shift Office

(d) Mobile Telephone Switching Office
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(29) Shannon — Hartley &HdT HY § &THT §EY B

S , S)
(a) C=Blog, [1+§] (b) C=%B logg [“—ﬁ]

S ; S
(c) C=Blog, \l_ﬁ] (d) C=Blogm[l+ﬁ)

The capacity relationship from Shannon — Hartley capacity theorem is :

f - 8 S
(a) C=Blog, \l+§] (b) C=2Blog, [1+§]

{8 | S\
() C=Blog, IHE (d) C=Blog, +rﬁ'

(30) e SRR sl Rrd 7o & gech o e it P o &

(i1)
(i)
(iv)
)
3. @)

(i)

& G

(i)

(a) @ (b) Moon

(¢) Sun (@) P=dawdad

An artificial body that is projected from earth to orbit around earth is

(a) Satellite (b) Moon

(¢) Sun (d) None of the above (1x30)

T AiggeH TR 7 HEHTE |

What is pulse modulation ? Explain.

ASK T FSK ! T ST SHHATE |
Explain ASK and FSK using waveform.
et ar § <3itaa guar @ 7 v 7

What is meant by ‘average information’ in digital commumcatxon T
mﬁﬁﬁﬂﬂa@m%aﬁaﬁ;ﬁwaﬁmt ? waTsd |

Why phasing is necessary in transmitter and receiver in facsimile system ? Discuss.

YR FER % gy fafed | _

Explain application of satellite communication. (2%5)

2] HigeH 1 GUS NG §15Y 9 38 THHTE |
Draw block diagram of Delta modulation and explain it.
TG T WigTeH I SR & G |
Explain pulse code modulation in detail. : (5%2)
fow =} wféw o wwmsT |
Explain the following in brief :
(a) TH.TES.
F.S.K.
(b) HhwEs.
P.S.K.
HFFET a1 I FE H gor e |
Compare analog and digital communication. (5%2)
P.T.O.
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5.

() = ugi =t afeaifys i (FE 4 D)
Define the following terms : (any two)
(@) TP
Entropy
(b) F=1 I AET
Amount of Information
(c) =et &mal
Channel capacity
(ii) Shannon — Hartley Y83 ! HHHT3T |
Explain Shannon — Hartley theorem. (5%2)
(i)  ZrEuvet S SRy ® g g9 |
Explain the working of transponder with the help of diagram.
(i) 398 FER WTTed § WYwh Y-RIH H! @UE JNE g THHATEY |
Explain the block diagram of earth station for satellite communication system. (5x2)
() e rRmE 6 wenferar w1 afes auis FHif |
Draw and explain the phasing of fax receiver.
(i) HRMETE Y HT IS HR@ w13 Ts THIATEY |
Draw and explain the block diagram of facsimile transmitter. (5%2)
(i) IR FETEA & 1Y “Bug 31T Aehfrsn i @agmEy |
Explain the “Hand off mechanism” for cellular mobile.
(i) Heger FeTa & 3reFdl *1 G&g 1§ gusEy |
Explain the components of cellular system in brief. (5%2)
o & | i 9t (02) W wftm feoaforat forfan
Write short notes on any two :
(i) 39uE =&
Satellite orbits
(i) weTES HER T
Mobile Communication System
(iii) Svafem wig

Sampling theorem

(iv) wfeepfa someft & e

Application of facsimile system (5%2)

e i



